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BIOLOGY (V154,021 sl
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Time Allowed : 15 Minutes (orin) w15 ¢ =y

Maximum Marks : 12 LM -G 3 3| 12 : AF
L....ui:’.:f;:c_.u:udﬁf.’)éZé_:&L-.J./.d')’/;.;LéK’dlﬁ _u_?{":é_}D »# CB°A .‘.‘ul_,fﬁ.‘fzkrﬁdlr/; ty
-gﬁ/ﬁwv'ﬁﬁlﬁwé‘-iﬁ&},&-/’z Sk L d._/z)(u.*;bu.[‘}c_..g _Z:')XLJJLLL:GFB,W&W
Note : Four possible answers A, B, C and D to each question are given. The choice which you

think is correct, fill that circle in front of that question with Marker or Pen ink in the answer book.
Cutting or filling two or more circles will result in zero mark in that question.

Many other chemicals in smoke increase : u;?Z_/ /:":U'i Z d_)w/,b _____ Kl e foRy o J P | 11
production of ----—- blood celis :
Platelets u’*’-)\_*,__,J;_ (D) Basinophil J"x."’-" (@) White <41y (B) Red 4 (A)
Extra water is removed from the plant body by : : .33;}1;{__ t’lgg’/f-,;lp';. ()'Z.;:;;G&ﬂﬁ 2
Evaporation ﬁug.ﬁf (D) Guttation u-&.ﬁf (C) Transpiration Ly”*-,?gf} (B) Respiration ﬁf-: (A)
The largest part of forebrain is : : q.ﬂlkc_.‘./b’q:m} 3
Cerebellum H’L}'A’ (D) Cerebrum (=< (C)  Hypothalamus fgfg (B) Thalamusu/g (A)
Which hormone is related to chiid birth : @J""a J’?@Jé_cmw/ 4
Thyroxin U’EJL; (D) ADH & #1551 (C)  Vasopressin c;{,:,;_:, (B) Oxytocin cfﬂf( 7 (A)
The joints between skull bones are called : ) Mfﬁec}yﬂﬁ u;jéd/d‘{){ 5
Immoveable 50 /2/7 (B) Moveable L1l S (A)
Hinge joints ._f"ifC' (D) Slightiymoveable L_1yd_f=/752# (C)
-------- seed have epigeal germination : : .g:,u%-"?]g}?@fufi/ ,,,,, 6
Cotton i/ (D) #™PeaMC)  Coconutfst (B) Maize & (A)

If an organism has two different alleles fora™, : q...dej/..,;f AN ru,mﬁr”y-—ulﬁﬁ Mf’qﬁu@ub.‘ﬁﬂ =
single trait, its genotype is said to be(:

Hemizygous a7 (B) Homozygous — _uSui;s%y (A)
Homologous L/'jr‘:f (D) Heterozygous uuf.ui i34 (C)
The number of chrom@somes in human body cells are : : ngﬁJfrﬂ/uka(?(}LJl 8
48 (D) 46 (C) 44 (B) 42 (A)
A recycling of one’tonne of paper can save trees - : ujélgé..t.g&uc_.é_.bu T}b/u{::;fji{cﬁ..g 9
20 (D) 19 (C) 18 (B) 17 (A)
Which is a biotic component of an ecosystem : : «:_'-U:',Zbﬁfi‘,ffuyg! 10
Producers J¢3s; (D) Soil ¢£J (C)  Water i (B) Air 1 (A)

The hormone which may prove effective against c,t‘f.lg{ ‘e L:Cxa:f‘}"lio;c uf/‘f-(éu:;gﬂ»@bﬁwﬂp 11
brain and lung cancer is called :

Urokinase 7§49 (D) Interferons ;5!/.-:’}1 (C) Thymosin ¢/ »# (B) Insulin dr’i (A)

Which drug is obtained from animals . «:{*..U’J/f:m/fba;,u:u;ig 12
Morphine ¢4 (D)  Aspirin < ¢+ (C) Digitalis J%ij (B) Fish liver oil ﬁ(j@iﬁ (A)
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Paper : Il (Essay Type) ( .;;/l/s: ) G4 I1 @ oy
Time Allowed : 1.45 hours & 145 0 =
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( PART-1 U3 »)

10 2. Write short answers to any Five (5) questions : c d’g A7 4 /"" L =y (5) ét < Jf -2
(i) Differentiate between breathing and cellular respiration. _é u/ B JJ,(:‘-; 2k sl u’y (i)
(i) Define pneumonia. é’; J/" J ks (i)
(iii) Write the effect of smoking on circulatory system. -&6 s 4 (‘/ d/f K Hﬁ/y“ (iii)
(iv) Differentiate between renal cortex and renal medulla. ..g O/ JE s S ¥ J o (iv)
(V) What is tubular secretion? fe | g g/; Juk (V)
(vi) What is ganglion? e g ugﬁcf (vi)
(vil) What is meant by brain stem? fe sl U/ X (." 7z (vii)
(viil) Write any two functions of spinal cord. & Jw I 9 (}:'/ ‘a :;(J’L« (viii)
10 3. Write short answers to any FIVE (5) questions : J..-.-.U?/‘!Luﬂlrﬁ}étc:.gjf -3
(i) Define skeleton. _.c"f ....d/’ J‘_,_u_l_\.{u (i)
(i) What are osteocytes? ot Y u*wv,l (i)
(iii) Define reproduction. é ..JJ/ d/ )J/J (iii)
(iv) Define parthenogenesis. ..é J/" Juuuu.a.uu:"”; (iv)
(v) Define inheritance. é 3 J Jb} (V)
(vi) What is transcription? ' T l..;" u)/c"l/ (vi)
(vii) Write down characteristics of pea piant, _Z_r ff ....«Lar"” (f sy L  (vii)
(viii) What is punnett square? e [f( CJ,/ ¥ s (vii))
10 4. Write short answers to any FIVE (5) dquestions : c‘f_,tli/"’zuﬂlr(S)ébc_Jf -4
(i) What is meant by ecosystem? Give two examples &> UJV::J('J;UJ,O ":_.Jf/'bfc_r‘/:{l ()
of natural ecosystem.
(ii) Differentiate between population‘and community. ...’{_{ g S J:;{ 2 J‘-J& (i)
(iii) Define food chain and give an example. _“é; Jt"* _.Q 2! Z:r h..p_)/? J uﬂg}} (iii)
(iv) Write the symptoms of dengue fever. & bk J 29 dﬁ“i (iv)
(v) Definebiotéchnology. -Z.-: . J gy L (V)
(vi) Write the uses of ethanol. L&l Je1 £ J#2 (i)
(vii) What are)synthetic drugs? Give an example. —ed Je o (jf: K_f ol &t’ (vii)
(vili) Define antibiotics and give an example. ,&; JE ’ég ‘...y/‘.’. J U"‘;,,"'LL?"'I (viii)
( PART-1I (97 A )
Note : Attempt any TWO questions. ezl type o
4 5. (a) Describe the osmoregulatory function of kidney. ié Ulr()" J/J:f:r'}l K 4._); (W) -5
5 (b) Describe the components of human skeleton. ' _c‘j"_f Uk & £ s Z gt (L)
4 6. (a) Describe the structure of a neuron. -é Yk =31 d/ ol () 26
5 (b) Explain various methods of artificial whwu:gfuﬂ)’»ﬁciruﬁ;ﬁ,wwﬂfr"u‘u»! ()
vegetative propagation in plants.
4 7.(a) Describe four sources of medicinal drugs 2y S e S Eus e L =il ¢ ()

giving examples. 5 — - Sire

5 (b) Define fermentation and describe its -Ef:rl O]% u‘filg o’vi L Ul é -y d/ L)'?// (&)
industrial products.
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